
1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

M10 threaded hole

Bolt M10*90

Washer φ10 

1

2

Step 1：

Attach M10*90 bolts and φ10 washers to the 

first threaded hole at the top of the upright

 and the multi-grip pull up bar part. Connect

 the parts loosely.

Step 2：

Connect the upright and the third connecting

 hole of the multi-grip pull up bar part with 

M10*90 bolts, φ10 gaskets and M10 nuts.

Step 3:

Tighten the screws.


